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ns

iti
vi

ty
bpm1Y_coil1(um/count)bpm1Y_coil1(um/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

0

0.002

0.004

0.006

0.008

0.01

0.012

0.014

0.016

0.018

0.02

se
ns

iti
vi

ty

bpm1Y_coil3(um/count)bpm1Y_coil3(um/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

0.057−

0.056−

0.055−

0.054−

0.053−

0.052−

0.051−

0.05−

0.049−

se
ns

iti
vi

ty

bpm1Y_coil4(um/count)bpm1Y_coil4(um/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

0.745

0.75

0.755

0.76

0.765

0.77

0.775

0.78

se
ns

iti
vi

ty

bpm1Y_coil6(um/count)bpm1Y_coil6(um/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

0.12−

0.1−

0.08−

0.06−

0.04−se
ns

iti
vi

ty

bpm1Y_coil7(um/count)bpm1Y_coil7(um/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

0.72−

0.715−

0.71−

0.705−

0.7−

0.695−

0.69−

se
ns

iti
vi

ty
bpm1Y_coil2(um/count)bpm1Y_coil2(um/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

0.055−

0.05−

0.045−

0.04−

0.035−

0.03−

se
ns

iti
vi

ty

bpm1Y_coil5(um/count)bpm1Y_coil5(um/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

53−

52.5−

52−

51.5−

51−

50.5−

50−

49.5−

se
ns

iti
vi

ty
usl_coil1(ppm/count)usl_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

16.5−

16−

15.5−

15−

14.5−

se
ns

iti
vi

ty

usl_coil3(ppm/count)usl_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

8−

7.5−

7−

6.5−

6−

se
ns

iti
vi

ty

usl_coil4(ppm/count)usl_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

4

4.5

5

5.5

6

6.5

7

7.5

se
ns

iti
vi

ty

usl_coil6(ppm/count)usl_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

63

64

65

66

67

68

se
ns

iti
vi

ty

usl_coil7(ppm/count)usl_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

5.5−

5−

4.5−

4−

3.5−

se
ns

iti
vi

ty
usl_coil2(ppm/count)usl_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

55

56

57

58

59

60

61

62

se
ns

iti
vi

ty

usl_coil5(ppm/count)usl_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

52.5

53

53.5

54

54.5

55

se
ns

iti
vi

ty
usr_coil1(ppm/count)usr_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

se
ns

iti
vi

ty

usr_coil3(ppm/count)usr_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

se
ns

iti
vi

ty

usr_coil4(ppm/count)usr_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

6

6.5

7

7.5

8

8.5

se
ns

iti
vi

ty

usr_coil6(ppm/count)usr_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

34

34.5

35

35.5

36

36.5

37

37.5

se
ns

iti
vi

ty

usr_coil7(ppm/count)usr_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

se
ns

iti
vi

ty
usr_coil2(ppm/count)usr_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

66−

65−

64−

63−

62−

61−

60−

se
ns

iti
vi

ty

usr_coil5(ppm/count)usr_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

57.5−

57−

56.5−

56−

55.5−

55−

54.5−

54−

53.5−

se
ns

iti
vi

ty
dsl_coil1(ppm/count)dsl_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

18−

17.5−

17−

16.5−

16−

15.5−

se
ns

iti
vi

ty

dsl_coil3(ppm/count)dsl_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

8−

7.5−

7−

6.5−

6−

5.5−

se
ns

iti
vi

ty

dsl_coil4(ppm/count)dsl_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

3.5

4

4.5

5

5.5

6

6.5

7

7.5

se
ns

iti
vi

ty

dsl_coil6(ppm/count)dsl_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

65

66

67

68

69

70

71

se
ns

iti
vi

ty

dsl_coil7(ppm/count)dsl_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

5.5−

5−

4.5−

4−

3.5−

3−

se
ns

iti
vi

ty
dsl_coil2(ppm/count)dsl_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

60

61

62

63

64

65

66

67

se
ns

iti
vi

ty

dsl_coil5(ppm/count)dsl_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

46

46.5

47

47.5

48

48.5

se
ns

iti
vi

ty
dsr_coil1(ppm/count)dsr_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

15.4

se
ns

iti
vi

ty

dsr_coil3(ppm/count)dsr_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

6.2−

6−

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

se
ns

iti
vi

ty

dsr_coil4(ppm/count)dsr_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

6.5

7

7.5

8

8.5

9

se
ns

iti
vi

ty

dsr_coil6(ppm/count)dsr_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

40

40.5

41

41.5

42

42.5

43

43.5

44

se
ns

iti
vi

ty

dsr_coil7(ppm/count)dsr_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

8.5−

8−

7.5−

7−

6.5−
se

ns
iti

vi
ty

dsr_coil2(ppm/count)dsr_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

58−

57−

56−

55−

54−

53−

52−

se
ns

iti
vi

ty

dsr_coil5(ppm/count)dsr_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

76

77

78

79

80

se
ns

iti
vi

ty
atl1_coil1(ppm/count)atl1_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

21.5

22

22.5

23

23.5

24

24.5

25

se
ns

iti
vi

ty

atl1_coil3(ppm/count)atl1_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

11.5

12

12.5

13

13.5

14

14.5

se
ns

iti
vi

ty

atl1_coil4(ppm/count)atl1_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

12−

11−

10−

9−

8−

7−

se
ns

iti
vi

ty

atl1_coil6(ppm/count)atl1_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

100−

98−

96−

94−

92−

90−

88−

86−

se
ns

iti
vi

ty

atl1_coil7(ppm/count)atl1_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

6

6.5

7

7.5

8

8.5

9

se
ns

iti
vi

ty

atl1_coil2(ppm/count)atl1_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

96−

94−

92−

90−

88−

se
ns

iti
vi

ty

atl1_coil5(ppm/count)atl1_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

74−

72−

70−

68−

66−

64−

62−

se
ns

iti
vi

ty
atl2_coil1(ppm/count)atl2_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

26−

24−

22−

20−

18−se
ns

iti
vi

ty

atl2_coil3(ppm/count)atl2_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

48−

46−

44−

42−

40−

se
ns

iti
vi

ty

atl2_coil4(ppm/count)atl2_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

40

42

44

46

48

50

52

54

se
ns

iti
vi

ty

atl2_coil6(ppm/count)atl2_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

385

390

395

400

405

se
ns

iti
vi

ty

atl2_coil7(ppm/count)atl2_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

44−

42−

40−

38−

36−

se
ns

iti
vi

ty
atl2_coil2(ppm/count)atl2_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

74

76

78

80

82

84

86

88

90

92

se
ns

iti
vi

ty

atl2_coil5(ppm/count)atl2_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

124−

122−

120−

118−

116−

114−

se
ns

iti
vi

ty
atr1_coil1(ppm/count)atr1_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

38−

37−

36−

35−

34−

33−

32−

se
ns

iti
vi

ty

atr1_coil3(ppm/count)atr1_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

20−

19−

18−

17−

16−

15−

14−

se
ns

iti
vi

ty

atr1_coil4(ppm/count)atr1_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

10

12

14

16

18

20

22

se
ns

iti
vi

ty

atr1_coil6(ppm/count)atr1_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

215

220

225

230

235

240

se
ns

iti
vi

ty

atr1_coil7(ppm/count)atr1_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

16−

15−

14−

13−

12−

11−

10−

se
ns

iti
vi

ty
atr1_coil2(ppm/count)atr1_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

130

132

134

136

138

140

142

144

146

148

se
ns

iti
vi

ty

atr1_coil5(ppm/count)atr1_coil5(ppm/count)



1875 1880 1885 1890 1895 1900 1905
cycle ID

70

72

74

76

78

80

82

se
ns

iti
vi

ty
atr2_coil1(ppm/count)atr2_coil1(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

16

18

20

22

24

26

se
ns

iti
vi

ty

atr2_coil3(ppm/count)atr2_coil3(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

52−

50−

48−

46−

44−se
ns

iti
vi

ty

atr2_coil4(ppm/count)atr2_coil4(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

48

50

52

54

56

58

60

62

64

se
ns

iti
vi

ty

atr2_coil6(ppm/count)atr2_coil6(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

410

415

420

425

430

se
ns

iti
vi

ty

atr2_coil7(ppm/count)atr2_coil7(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

54−

52−

50−

48−

46−

se
ns

iti
vi

ty
atr2_coil2(ppm/count)atr2_coil2(ppm/count)

1875 1880 1885 1890 1895 1900 1905
cycle ID

94−

92−

90−

88−

86−

84−

82−

80−

78−

76−

74−

se
ns

iti
vi

ty

atr2_coil5(ppm/count)atr2_coil5(ppm/count)
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